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Exam Date: 05-Jan-2021
Exam Time: 12:30-14:30
Post Name: Vidhyut Sahayak - Junior Eng-Electrical

GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1

(A) O Karnataka (Correct Answer)
(B) O Manipur

(C) O Punjab

(D) O Arunachal Pradesh

As per ‘India State of Forest Report 2019” which state ranked as first in terms of highest growth in forest cover?

Marks:
Bookmark

Question No.2

The computer related term 'UPS' stands for .
(A) O Undulated Power Source

(B) O Uninterruptible Power Supply (Correct Answer)
(C) O Unregulated Power Source

(D) O Universal Power Supply

Question No.3

The district Yanam belongs to which union territory?
(A) O Andaman and Nicobar Islands

(B) O Ladakh
(C) O Lakshadweep
(D) O Puducherry (Correct Answer)

Marks:
Bookmark

Marks:
Bookmark

Question No.4

Recently the second edition of joint tri-services ex
(A) O Srilanka

(B) O United States of America
(C) O Nepal
(D) O Russia (Correct Answer)

Marks:
Bookmark

Question No.5

Who is the second woman to hold the chair as 'Finance minister in India'?
(A) O Sheila Dixit

(B) O Nirmala Sitharaman (Correct Answer)

(C) O Indira Gandhi

(D) O Sushma Swaraj

Marks:
Bookmark

Question No.6

Who among the following chaired the first Round Table Conference held at London in 1930-317?
(A) O Ramsay MacDonald (Correct Answer)

(B) O Winston Churchill
(C) O Clement Attlee
(D) O Neville Chamberlain

Marks:
Bookmark

Question No.7

Under the cheap money policy, the inflation rate in the economy will
(A) O Remains constant

(B) O Increases (Correct Answer)
(C) O Decreases slowly
(D) O Decreases rapidly

Marks:
Bookmark

Question No.8

What is the full form of ISRO?
(A) O Indian Scientific Research Organisation
(B) O Indian Space Research Organisation (Correct Answer)

Marks:
Bookmark



(C) O Indian Satellite Research Organisation
(D) O Indian Solar-system Research Organisation

Question No.9 Marks:

Bookmark
Sandstone is an example of which type of rock?

(A) O Plutonic Rock

(B) O Volcanic Rock

(C) O Sedimentary Rock (Correct Answer)
(D) O Metamorphic Rock

Question No.10 Marks:

Bookmark
Which of the following institutes is known as 'Mecca of Indian Sports'?

(A) O Lakshmibai National College of Physical Education, Thiruvananthapuram
(B) O Institute of Sports Science & Technology, Pune

(C) O Inspire Institute of Sport, Vijayanagar

(D) O Netaji Subhas National Institute of Sports, Patiala (Correct Answer)

ENGLISH KNOWLEDGE - ENGLISH KNOWLEDGE

Question No.1 Marks:

Bookmark
. If the given sentence.i t then

©
\o

Replace the underlined phrase grammatically and conceptually with the help of the giv
select the option 'The given sentence is correct'.

Before sending the e-mail, the shopkeeper add a word file as a attachment
(A) O add a word file as an

(B) O The given sentence is correct
(C) O added a word file as a
(D) O added a word file as an (Correct Answer)

Question No.2 Marks:

Bookmark

In the following question, one part of the sentence
option corresponding to it. If the sentence contain

(A) A number of / (B) girls have passed / (C) on the i
(A O A
B)O B

(
(©)O D o
(D) O C (Correct Answer) e

Question No.3

Marks:

Bookmark
Rearrange the following to form a meaningful sentence and find the most logical order from the given options.

P: Australia’s catastrophic fire season that began in
Q: August last year is unprecedented, and has

R: New South Wales and Queensland

S: caused large scale destruction, mainly in

(A) O PQSR (Correct Answer)
(B) O RQsP
(C) O PQRS
(D) O RQPS

Question No.4 Marks:

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Encomium (Correct Answer)
(B) O Concentratad

(C) O Fasionable

(D) O Zealosness

Question No.5 Marks:

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Confidance

(B) O Encountered (Correct Answer)
(C) O Tyranical

(D) O Gratitous




Question No.6

Choose the best option from the given alternatives which can be substituted for the given word/sentence.

One who offers one’s services

(A) O Volunteer (Correct Answer)
(B) O Pauper

(C) O Alien

(D) O Pedestrian

Marks:
Bookmark

Question No.7

Choose the word which best expresses the similar meaning of the given word " EFFICACY "
(A) O Capacity (Correct Answer)

(B) O Failure
(C) O Lethargy
(D) O Enervation

Marks:
Bookmark

Question No.8

Fill in the blanks with suitable Preposition from the given alternatives.

I've been married my wife for 15 years.
(A) O beside

(B) O since

(C) O to (Correct Answer)

(D) O for

Marks:
Bookmark

Question No.9

Fill in the blanks with suitable Article from the given alternatives.

fruits are good for our health.
A) O No article (Correct Answer)

(
(B) O the
(
(

Marks:
Bookmark

Question No.10

Choose the word which expresses nearly the opposite meanin
(A) O Bluster

(B) O Alarm
(C) O Assure (Correct Answer)
(D) O Force

en word " INTIMIDATE "

Marks:
Bookmark

ELECTRICAL ENGINEERING - ELECTRICAL ENGINEERING

Question No.1

The number of roots of s* + 6s3 + 21s2 + 36s + 20 = 0 in the left half of the s — plane is
(A) O Two

(B) O Three
(C) O One
(D) O Four (Correct Answer)

Marks:
Bookmark

Question No.2

The circuit diagram shown in Figure is a:

(A) O Owen's bridge
(B) O Schering bridge
(C) O Hay's bridge (Correct Answer)

Marks:
Bookmark



(D) O Maxwell-Wien bridge

Question No.3 Marks:
Bookmark
The time constant of the RC network shown in Fig. is
Switch R
_%’ AAM
Yy
10V= RS C==
- 4'

(A) O (2/3) RC (Correct Answer)
(B) O (1/2)RC

(C) O 3RC

(D)O 2RC

Question No.4 Marks:

Bookmark
Find the voltage across the 3Q resistor 'V, in the circuit shown in Fig.

+
= vxgsn 1A

(A) O ov
(B8)O 1V
(C) O 2V (Correct Answer)
(D) O 3V

Question No.5 Marks:

Bookmark

The magnitude of the magnetic field of a wire loop nd current | is

WO gl
R

(B)O il

C
© O [ o1

2R
y779
4R

(Correct Answer)

DO

Question No.6 Marks:

Bookmark
A cube of side 'a' has charge 'q' at each of its eight vertices. The electric field due to this charge array at the centre of the cube is

A O g
3mga
®O 14
3mga
(C) O Zero (Correct Answer)
DO 4q
3mea

Question No.7 Marks:

Bookmark
If the current in the faulted phase for a single line to ground fault is 300 A, the its zero sequence current is .

(A) O 300A
B) O Zero
(C) O 100 A (Correct Answer)



(D) O 900 A

Question No.8

The retardation test on a dc shunt motor is used for finding the

(A) O eddy current losses

(B) O windage losses
(C) O copper losses
(

D) O stray losses (Correct Answer)

Marks:
Bookmark

Question No.9

For 'n" on cycles and 'm’ off cycles, the duty cycle of AC voltage controller 'k’ is given by

A
A) O _—

4 m

(B) O k:\/T
nt+m

©)O k:r i
n+m
m

D)o

n+m

(Correct Answer)

Question No.10

Consider a simple power electronic converter circuit with single-pole
switch is connected alternately to throws A and B. The converter sh

£
2
2
<

ik

+

= Vot
4

(A) O step-up chopper
(
(
(

D) O full-wave rectifier

B) O step-down chopper (Correct Answer)
C) O half-wave rectifier

Marks:
Bookmark

. The pole 'S' of the

Question No.11

If all the inputs of a NAND gate are connected together, then t

(A) O EX-OR gate

B) O NOT gate (Correct Answer)

(
(C) O AND gate
(D) O OR gate

Marks:
Bookmark

Marks:
Bookmark

Question No.12

The value of leakage co-efficient (A) is usually about
(A) O 1.12 to 1.25 (Correct Answer)

(B) O less than 1
(C) O above 10
(D)O 5to 10

Marks:
Bookmark

Question No.13

Choose the integration represents the area of the ellipse

(A) O J].-T—z

4J-J- dydx
00

® O -

91—
a?

a
4J-J- dydx
0

0

Marks:
Bookmark



b [1-%

it

a

dydx

|
a

L

DO

b [1-Z

e

a

(Correct Answer)
dydx

|
a

S

Question No.14 Marks:

Bookmark
In a balanced star connected network, the line voltages are ahead of their respective phase voltages.

(A) O 1200
(B) O 60°
(C) O 30° (Correct Answer)
(D) O gg°

Question No.15 Marks:
Bookmark

The Complete infegral of z = px + qv +/pq is

(A) O Z =ax®— by® +a?h?
B) O ‘ P ‘(Correct Answer)
©O z=ax—by+ab

PO 2= ax? + by? + /a2

Question No.16 Marks:

Bookmark

A 6-pole, lap connected dc generator has 720 con
e.m.f.

(A) O 125V
(B) O 384V (Correct Answer)
(C)O 192V
(D) O 240V

en at 800 rpm. Calculate the generated

oa%’é

Question No.17 Marks:

Bookmark
A 12-bus power system has a slack bus and 4 - voltage controlled buses. For the load flow analysis using Newton-Raphson method in
polar coordinates, the size of the Jacobian matrix is

(A) O 22x22
(B) O 16x16
(C) O 18 x 18 (Correct Answer)
(D) O 20x20

Question No.18 Marks:
Bookmark

The system model described by the state equations

S,

L)

i L3
and y=l ILJ s

(A) O controllable and observable (Correct Answer)
(B) O controllable but not observable

(C) O neither controllable nor observable

(D) O observable but not controllable

Question No.19 Marks:
Bookmark
The velocity of wave propagation in a conductor with frequency 6 x 108 rad/sec and phase constant of 2x1 08 units is



A)O 8
B) O 2
C)O 4

(
(
(
(D) O 3 (Correct Answer)

Question No.20 Marks:
Bookmark

In a sinusoidal PWM, if the peak of the triangular carrier wave is coincident with zero of the reference sinusoid, then the number of
pulses generated in each half cycle is , where ' f; ' is the frequency of the carrier wave and ' f ' is the frequency of the

reference sinusoid.

WO p
f
Ao

(©)O ‘/z
£

(D) O

(B) O

(Correct Answer)

N
2f

Question No.21 Marks:

° Bookmark
A balanced three phase power system consists of .
(A) O Negative sequence currents only ‘
(B) O Positive, negative and zero sequence currents 6
(C) O Zero sequence currents only
(D) O Positive sequence currents only (Correct Answer)
Question No.22 Marks:
Bookmark
A series RLC circuithas R =2Q, L=1H and C =1F r sonance is
(A) O 100 A
(B) O 90A
(C) O 115 A (Correct Answer)
(D)O 110A
Question No.23 Marks:
Bookmark
For the network shown in Fig., the equivalent capacitance betw he terminals AandBis __
1uF 1k 1uF
A} i} {8
(A) O 1uF
(B) O 3 pF (Correct Answer)
(C)O 2pF
(D) O (1/3) pF
Question No.24 Marks:
Bookmark

In a JK flip flop as shown in Figure, J = Q' and K=1. If the flip flop was initially cleared and then clocked for 6 pulses, then the sequence
at the Q output will be

|_ F a o/P

1e—K

CLK —T

o1

(A) O o10011

® O p11010
(C)O

(Correct Answer)

010101

®)O  p10010




Question No.25 Marks:

Bookmark
For the circuit shown in Fig., the maximum power that can be transferred to the load R|_ from the voltage sources is
10092
100V — ‘:‘; Ry
r
(A) O 25W
(B) O 250W
(C)O 0.25W
(D) O 25W (Correct Answer)
Question No.26 Marks:
Bookmark
A 30 kVA, single phase transformer has 250 turns on the primary and 40 turns on the secondary winding. The primary is connected to
1500 V, 50 Hz mains. On full-load, the primary and secondary currents are and respectively.

(A) O 20 A and 125 A (Correct Answer)
(B) O 20 Aand 140 A
(C)O 40Aand 120 A
(D) O 40 Aand 150 A

Question No.27

Marks:
Bookmark

A three phase squirrel cage induction motor has a starting current of six times th
delta starter is used to start this induction motor, then the ratio of starting torque #

(A)O 03
B)O 1.8
(©)O 12
(D) O 0.6 (Correct Answer)

d full load sli 6. If a star-

Question No.28 Marks:

Bookmark

The Fourier sine tfransform of e s

(A) O f .
— _—— __|(Correct Answer)
7 (s +a?)

80 _*
(s +a?)

©o =

(s* +a?)

D)o [= s
2 (s*+a?)

Question No.29 M

Bookmark

If the Fourier series of an odd function £(x) in the interval (-1, n1) is f(x) = % + oy a, cosnx + By b
(A O (Correct Answer)

(B)O ay=b,=0

© O

. sinnx, then

(D) O %
an=5,a ='h.=10

n n

Question No.30 Marks:

Bookmark
The critical clearing time of a fault in power systems is related to

(A) O steady-state stability limit

(B) O transient stability limit (Correct Answer)
(C) O short-circuit current limit

(D) O reactive power limit

Question No.31 Marks:



Bookmark
If the transfer function of a phase lead compensator is (s + a)/(s + b) and that of a lag compensator is (s + c)/(s + d), then which of the
following sets of conditions must be satisfied?

(A) O a>bandc

B)O a

(C) O ad (Correct Answer)
(D) O a>bandc>d

Question No.32 Marks:
Bookmark
The T-equivalent circuit of the linear transformer shown in Fig. is
& I
o 2H -2—_
JdZNL
10H 4H
(A) O

L,=8H L,=2H

(Correct Answer)

BO [ =10HL,=4H

DO

Question No.33 Marks:

Bookmark
MOSFET can be used as a

(A) O Current controlled capacitor

(B) O Voltage controlled inductor

(C) O Voltage controlled capacitor (Correct Answer)
(D) O Current controlled inductor

Question No.34 Marks:

Bookmark
If the rotor of induction motor rotates at a synchronous speed theoretically, the emf induced in the rotor is

(A) O more than the applied voltage
(B) O equal to zero (Correct Answer)
(C) O equal to the applied voltage

(D) O less than the applied voltage

Question No.35 Marks:

Bookmark
A microphone is classified as a

(A) O Optical transducer

(B) O Thermal transducer

(C) O Magnetic transducer

(D) O Acoustical transducer (Correct Answer)

Question No.36 Marks:
Bookmark



A parallel form realization of an IR filter is shown in Fig. Which one of the following would be its correct input-output relation?

(A) O y(n) = x(n) + x(n-1) + x(n-2) + y(n-1)

(B) O y(n) = x(n) - x(n-1) - x(n-2) + y(n-1)

(C) O y(n) =x(n) + x(n-1) - x(n-2) + y(n-1) (Correct Answer)
(D) O y(n) = x(n) - x(n-1) - x(n-2) - y(n-1)

Question No.37 Marks:

Bookmark
L (1—8 )
E:

(A) O

$—1 |(Correct Answer)

log

(B8) O S
Eogs )

C) O s
i1

OO s+1
g

Question No.38 Marks:

Bookmark

If ¥ = f(x), a polynomial of degres thres, the

(WO
SFEF"(0)

(B) O 1 L
= flx)f"'(x) | (Correct Answer)

©O feyf

D)O
PO L e

Question No.39 Marks:

W Bookmark
For the circuit in Fig., the output expression "Y' is given by

oll¥
g

(A O AB

(B) O A+B (Correct Answer)
(C)O AB
(D) O

A+B

Question No.40 Marks:

Bookmark
Maximum rank of a matrix of order 4 X 3 is

(A) O 3 (Correct Answer)
B)O 0
(€O 4
D)O 1

Question No.41 Marks:



Bookmark
Three delta connected resistors absorb 60 kW when connected to a three phase line. If the resistors are connected in star, then the
power absorbed is

(A) O 180 kW

(B) O 20 kW (Correct Answer)
(C) O 60kW

(D) O 40 kW

Question No.42 Marks:

Bookmark
In terms of Spherical coordinate system variables as shown in Fig., 'y' of Cartesian coordinate system is given as

(A) O rcosb cosd
(B) O rsind sing (Correct Answer)
(C) O rcosb sing
(D) O rsind cosd

Question No.43 Marks:

Bookmark

Which of the following functions satisfies C-R equations but not anal

(A) O (Correct Answer)
B0 &

©0O [y
D)O =

(O

Question No.44 Marks:

Bookmark

The maximum power developed in a synchronous motor o
(A) O 180 degree

(B) O 30 degree
(C) O 45 degree
(D) O 90 degree (Correct Answer)

ata angle of

Question No.45 Marks:

Bookmark
If the differential voltage gain and the common mode voltage gain of a differential amplifier are 46 dB and 2 dB respectively, then its
common mode rejection ratio (CMMR) is

(A) O 24dB
(B) O 44 dB (Correct Answer)
(C)O 48dB
(D) O 22dB

Question No.46 Marks:

Bookmark
What is the Nyquist rate for a signal x(t)=3cos(10001t)+43sin(20001rt)?

(A) O 3000 HZ
(B) O 1000 Hz
(C) O 2000 Hz (Correct Answer)
(D) O 1500 Hz

Question No.47 Marks:

Bookmark
The base impedance and base voltage for a given single phase power system are 25Q and 500 V respectively. The base kVA and
base current is

(A) O 20kVAand 5 A

(B) O 5kVAand 10 A

(C) O 10 kVA and 20 A (Correct Answer)
(D)O 10kVAand 15 A



Question No.48

The Thevenin voltage and Norton current of the circuit shown in Fig. are

69 60
—WV—e

2A EIGQ

>

(A) O 12V, 1 A (Correct Answer)
(B)O 10V,2A
(©)O 10V, 1A
(D)O 12V,2A

Marks:
Bookmark

Question No.49

The span of a zero centered voltmeter having a scale from -10 V to +10V is
(A) O 15V

(B8) O ov

(C) O 10V

(D) O 20V (Correct Answer)

Marks:
Bookmark

Question No.50

If the full load copper loss of a transformer is 600 W, then the copper loss at ha

(A) O 600W

B) O 1200 W

(C) O 300W

(D) O 150W (Correct Answer)

Question No.51

The polar plot of G(s) = 1+sT is

(A) O
w=0
1
0 Re
w
—Im | -
®O0
T Im A
(1]
w=0
©O0 -
Im A T
w
w=0 (Correct Answer)
0 1 Re

DO

Marks:
Bookmark

Marks:
Bookmark



Question No.52 Marks:
Bookmark

What is the particular integral of (D? — 4)y = sin 3x2

(A) O

1
—s5in 3x
4

B)O | -1

PTy sin3x | (Correct Answer)

© O

1‘3
—sin 3x
5

(D) O None of these

Question No.53 Marks:

Bookmark

A 4-pole, 3-phase, 440 V induction motor runs at 960 rpm when the
(A) O 33.33 Hz (Correct Answer)

(B) O 25Hz
(C) O 66.66 Hz
(D)O 50 Hz

Question No.54 Marks:

Bookmark

If a signal f(t) has energy ‘E’, then the energy of the si
(A) O 2E

B)O E

(C)O 4E

(D) O EI2 (Correct Answer)

Question No.55 Marks:

] Bookmark
What is the overall transfer function C(s)/R(s) for the block diagram shown in figure:

WO GG, +G,G,

®O g +q,
1+G;H,

©0C\66,+6,6,

1+G,H,

OO0 @466
1+GL,G.H,

(Correct Answer)

Question No.56 Marks:

Bookmark
The equivalent circuit representation of off-nominal transformer with turns ratio 'a' and series admittance of the transformer 'Y{'

connected to the unity side as shown in the Figure is:



A O 21
L q
l-a a-1
K[ a J Y{ a J
0 0
® O a¥,
P q
l-a a-1
Y’[a_zj Y’( a ]
0 0
© 0 Y
a
P — 1 q
(Correct Answer)
1-a a-1
¥y
(D) O

Question No.57

Marks:
Bookmark
In a DC generator, the number of electrical degrees and mecha degrees will be same when the number of poles in the generator
is equal to
(A) O 6
(B) O 2 (Correct Answer)
(©0O 8
(D)O 4 LA
Question No.58 Marks:
Bookmark

Show that how four 1Q resistors must be connected to give an overall resistance of 1Q across the terminals A and B.
(A) O 10

10 10

® O i

©O 1Q 10

o—4 +—= | (Correct Answer)

.
ke




D)O

Question No.59 Marks:

Bookmark
In a three phase semiconverter, for firing angle less than or equal to 60 degree, freewheeling diode conducts for

(A) O 60 degree
(B) O Zero degree (Correct Answer)
(C) O 90 degree
(D) O 30 degree

Question No.60 Marks:
Bookmark

2
The value of limx-1 azx—: is
y_)zx o s o
(A) O 01/3
(B) O 01/5
(C) O 02/3 (Correct Answer)
(

D)O 01/2

COMPUTER KNOWLEDGE - COMPUTER KNOWLEDGE

Question No.1 Marks:

Bookmark

Identify whether the following statements are True or False;
Statement A: 32-bit operating systems are limited to 3.2
Statement B: 64-bit operating systems allow a maxim

(A) O Statement A is True and Statement B is F
(B) O Both Statement A & Statement B are False

(C) O Statement A is False and Statement B is Tru
(D) O Both Statement A & Statement B are True (

Question No.2 Marks:

Bookmark

replaces the boot sector program with it: alicious version. Usually it enters into our system through corrupt
media files, infected storage devices and insecure computer ne S.

(A) O Macro virus

(B) O Resident virus

(C) O File infector virus

(D) O Boot virus (Correct Answer)

Question No.3 Marks:

Bookmark
Identify which is not an advantage of Client/Server network?

(A) O ltis less costly as it does not contain any dedicated server (Correct Answer)

(B) O Security is better in Client/Server network as a single server administers the shared resources.

(C) O A Client/Server network contains the centralized system. Therefore we can back up the data easily.

(D) O A Client/Server network has a dedicated server that improves the overall performance of the whole system.

Question No.4 Marks:

Bookmark
What will the shortcut key Ctrl + D will do in Ms Excel?

(A) O It enables you to fill down the cells with the content of the selected cell. (Correct Answer)
(B) O It offers users the option to display the create table dialog box.

(C) O It provides the option to insert a hyperlink in a file.

(D) O ltis used to copy the selected content of a worksheet.

Question No.5 Marks:

Bookmark
is set up by connecting the local area networks of the city or town. It is ideal for the people of a particular region to
share data or information.

(A) O LAN
() O WAN




(C) O SAN
(D) O MAN (Correct Answer)

Question No.6

is an activity of sending emails to a user claiming to be a legitimate enterprise. Its main purpose is to steal
sensitive information such as usernames, passwords, and credit card details.

(A) O Email phishing (Correct Answer)
(B) O Malware

(C) O Spam

(D) O Mobile worms

Marks:
Bookmark

Question No.7

Identify the shortcut key in MsWord to insert the current date.
(A) O Shift+Alt+D (Correct Answer)

(B) O Shift+Alt+T

(C) O Shift+D

(D) O Alt+D

Marks:
Bookmark

Question No.8

Which function of OS provides mechanisms for synchronization and communication am
(A) O Process management (Correct Answer)

(B) O Memory management
(C) O File management
(D) O Device management

Marks:
Bookmark

Question No.9

In which generation, magnetic cores were used as the primary. memo
storage?

(A) O Third

(B) O Second (Correct Answer)
(C) O Fourth

(D) O First

ere used as the secondary

Marks:
Bookmark

Question No.10

is computer hardware that can r
A) O asynchronous DRAM

(
(B) O associative memory (Correct Answer)
(
(

sed on only a small, indicative sample.

C) O cache
D) O ROM

Marks:
Bookmark

GUJARATI LANGUAGE AND GRAMMAR - GUJARATI LANGUAGE AND GRAMMAR

Question No.1

YR ell2l Ul 2! - 3] uedHE HI2 A 2loe, lId).
(A) O wfastiefl

(B) O dsalel
() O (asiieil
(D) O @ 1eidR (Correct Answer)

Marks:
Bookmark

Question No.2

&l wIE] (g el 2 SlulHiell 58 %S| A1 «iefl?
(A) O w1 X ¥{d

(B) O wAilet X W2L(8Ls (Correct Answer)
(C)O ylus X eldl
(D) O (A1 X A28l

Marks:
Bookmark

Question No.3

AUY' 20 [AUd 24e] 24U 210t 20H).
(A) O gl
(B) O (aeiu

Marks:
Bookmark



(C)O (agy
(D) O 4y (Correct Answer)

Question No.4

<{1Aell 210l ueslel uHILl dAlsedlA dl AR [asey Qe sled, §3qt, 5§, SHO, $H

(A) O suw®, &%, 5Yal. sled, $U (Correct Answer)
(B) O 5uql, 55, sHY, sled, sU
(C) O sy, sHw, sled, 5§, Ul
(D) O sy, sled, 5Uel, 55,54

Marks:
Bookmark

Question No.5

W HAUMA ;AU - 190419, 6ilo) U0t Alels U A 2.

(A) O URrlsM
(B) O WAW&I
(C) O su
(D) O wIHUI™ (Correct Answer)

Marks:
Bookmark

Question No.6

AHRIGR : WRIAR 1 - QUG : A1 (g (&cd 241U
(A) O uisuis
(B) O »ulnnul (Correct Answer)
C) O dididal
(D) O duduRr

Question No.7

ugluell o110 Q1uS) Adls. ' 21 disde] Y sdR disy
(A) O Y€y vl Gl B.

(B) O Ad uglu uld wioa Glustasidl.
(€) O vy wilala Grusl asl.
(D) O € vt Qusl dldl. (Correct Answer)

Question No.8

Wl A 210ele{] 2A1SHI W5 ALSSA Aoid . 58 S mubu@ .

(A) O dlen-dAle

(B) O Wdr-vlgd

(C) O -2y

(D) O Alu-2isyil (Correct Answer)

Marks:
Bookmark

Marks:
Bookmark

Marks:
Bookmark

Question No.9

(69 A<il oje 564 53], WL dlsUe] Yol:0RS IS L),
(A) O [eaela d«l ojd soyd sl

(B) O (1a} [ex121 ulA d-fl ¢4 sojd s21asldl. (Correct Answer)
(C) O [exdal a5 asll ¢4d 5046 s2AASIALS.
(D) O [esglel] A+l ¢ 504 5210,

Marks:
Bookmark

Question No.10

RIR WL 13 B AR YHIS «(lsA B. 1A ¢fl2] €131 uel gf B2
(A) O [AQnal

(B) O (suld

(C) O ydstiH

(D) O AAlws

Marks:
Bookmark
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